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1.1. Slunit of electric current is
meter 4 (D) mole J» (C)
2 - Least count of screw gauge is

K% 00001 em (D) AE¥ 0.001 ¢cm (C)

3 - The motion of a body around its own axis is called

rotatory motion U S (B)
random motion uﬁrp‘z/ (D)
4 - ST unit of force is
ampere A% (D)
5 - Conditions of equilibrium are

3 O 2 (€

kilogram r!/cK )

6 - A satellite revolving around very close to the earth has

speed nearly
8kms” (D) 8kmis ™~ (C)
7 - SI unit of power is
ampere 44 (D) Pascal J’g (©)
8-  Molecules are closely packed
inplasma xljt (D) in liquid uﬁét (C)

9 - Density="7?
volume x mass  Jlxpxls (B)

force Ju?
area L

(D)

10 - The material which has large specific heat
mercury u’// (D) water dg (C)

11- ST unit of thermal conductivity is

wmZk? (D) Wmk (C)
12 - Einstein's mass energy equation is
E=m2c? (D) E=mc’ (C)
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circular motion ugr‘){/ (A)
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e &Y SIE
kilogram L (A)
ot Lot o) St S

ingas vtu? (A)

watt =iy (B)
insalid 4u¥ (B)

volume [+

mass g W)

mass W
volume (s &l

< Jla K/f';c;/l}u,l,i J“/'{'i

ice iz (B) copper 4§ (A)
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Note: - Section 1 is compulsory. Attempt any TWO (2) (2) e Jf & u-‘!r» - -q_dJU Jil o 2d
questions from Section I C(U 7,_ [~ 3 & o 4 L=y

. Section - I d;l
9 - Write short answers to any FIVE (5) questions.  (6x2= 10) -i/ i UU.?/‘?LUUV (b) é; e Jf 2

{- Write down the names of any four base quantities. ‘é / / 4] L Ui ol e & g =
ii- Define prefixes. How are these useful? Sur 4 U NPT /60’4 -
4i. Estimate the age of 16 years in seconds. e Gt FJ 16 -
iv . Differentiate between distance and displacement. -’Zf; ok O/ U .w’-J‘ﬁ sl el -iv
v - Define uniform velocity. -é ¥ /"" $ S (g -V
vi- Define momentum. Write down its SI unit. gy f <y SIE YT sy e ("Y/ -vi
vii- Define mass and weight. ) _’éf; .é,//"'Jw; »yUl -vi
viii- Write down advantages of friction. -é {/)’U’L «f; - viii

3 - Write short answers to any FIVE (5) questions. (5 x2=10) -ég i .:JQUZ/‘? L=y (5) ég - J:( -3

i. Differentiate between tor~ue and couple. " Zf IS~ J{J,t Sl =i
ii- How vectors are added by head to tail rule? fe bl t_f (‘fcf,f / J}f.: e Jv Jf Sk -il
4i- What is meant by the force of gravitation? te sl Ve P ST -
iv - Differentiate between natural satellite and artificial satellite. _é 6 ) J/' o SR By sl &5 R 8;,3 -iv
v- Whatis a field force? % dn LU v
vi- Define unit of work. -4 -—é’/.'.tf&g Loy =v
vii- Define watt (unit of power). Ay (g ) 2l -vil
viii- How is percentage efficiency calculated? fe [}lg d/ r)” 4_/ J}‘)d’,l wo - viil

4 - Write short answers to any FIVE (b) questions.  (6x2= 10) _215,//7 .-,uz}? Loy (5) é be (3:( -4

;- Describe Archimedes principle. ~£ Wk U € Ja -i
ii- Define pressure. Write its ST unit. _ZE ey SIE Ty i Ayg -
jii- Define elasticity. P -
iv- Differentiate between temperature and heat. -é 0] Y- cw'/ulf.;-/;? -iv
v- Convert 100° F into the temprature on celsius scale. -Z: S ch u’«'A"/ 'S f;;{ 100°F £ ‘}f wAUb -V
vi- Write down two uses of good conductors. ~2f£ vk Jb-“fl 0L }rﬁf 2 vl
vii- Describe land breeze and sea breeze. _ZE Yk UF F 7§« (-/ - vil
viii- What is meant by convection. e e o il
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Section - 11 (9)

Note: Attempt any TWO (2) questions. ﬁz\u. | .ru/l.w - ezl ey (2) ne m\
5 - (a) With the :m_n, of speed-time graph prove that (4) o mmxr..\.qn\tﬁru._\m by (L) | B
Nmmn<%1<w ‘ wmmn<%|<m
(b) A body has weight of 20N. How much force is (5) Lnms™ S U - 20N s WW\W(Q (o)
required to move it vertically upward with an c\ Y O lbd it rw i b S \_\q_
acceleration of 2ms ™ ? A.Q\ ROy c\ Jo?
6 - (a) Define centre of gravity. How the centre of gravity . (4) W%&&f c\m.m rm\\wc?wa\t_\t (D . g
of an irregular shape is found? fe bl @ﬂ%\hs\ﬁw.u\\.hu\t
(b) Calculate the power of a pump, which can iift 200kg (5) £k S 6m U* 10s \Qm. 200kg ot f ()
of water through a height of 6m in 10 seconds. RS SN v 74
7 - (a) Define evaporation and exptain the factors which (4) Ll win 2 vy # & Y J Q..m.ﬁ& () .9
affect the evaporation. L aoley S N
(b) The weight of a metal spoon in air is 0.48N. Its (5) &!/A %. zm.\,P 0.48N s w\mm.. Yl i ()
weight in water is 0.42N. Find its density. KnW\ET o ”.w c\% -< 0.42N s
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1.1- Thebase unitis Q{ij'):\'l} e 2 bilp -1.1
watt i (D) Newton % (C) kilogram (L (B) Pascal | (A)
2 - The change in position is called &« JM J./fu.f u"%)g -2
velocity (Vs (B) speed iz (A)
distance <G (D) displacement =3 (C)
3. Newton's first law of motion is valid only in the Iy v Lok Gz g S0 3
absence of a0 tn I §
momentum ("k} (D) friction ﬂ ©) force u’/} (B) net force uﬁ}q A)
4 . Aforce of 10N is making an’angle of 30° & at{ 2§ 30° L fgl-x J/;"J 10N .4
with x-axis. Its horizontal compofient will be € v .w:{ L?j‘ 29
8.7N (D) 10N (C) 5N (B) 4N (A)
5- The equation to determine force of gravitation J i/ p‘-” c)%"dz/( ST uen £ rlals -5
between two objects is & =l
F=g=t (o) F=G=2 (6 F=G=L (@) )
6 - The energy possessed by a body due to its motion, is called ‘f PRY/NIpa Jg o 2 J J/uﬂ () u’( -6
Potential energy d}lg}’:‘é’ (B) Kinetic energy &/’l.@cj{ A
Nuclear energy g,?./'lf”/;::' (D) Chemical energy &/’Ué‘{ (®))
7. The SI unit of stress is e &y KR Ut (SD J}:}-l (é‘/ -7
N’m? (D) Nm (C) Nm™ (B) Nm™' (A)
8 - Normal human body temperature is c“.j;fj K()' Sur et -8
37°C (D) 37°F (€) 98.6 °C (B) 15°C (A
9. Ingases, heatis mainly transferred by rayera 1 a7 JBI sl /:r -9
conduction % (B) molecular collision LA/ (A)
radiation ¢#I$4s (D) convection % ©)
10 - The material with large specific heat is < ij J(a K,f:‘? A7l -10
ice 3z (D) mercury /7 (C) water &g (B) copper ¢ (A)
11- According to first condition of equilibrium e L L}u‘}f J(lf‘d;f! -11
YF=0 (D) >d=0 (C) >P=0 (B) St=0 (A
12 .. The most sensitive balance for measuring mass of RV TS 1 i1 () 4. ¢ 12
o S

light object is
physical balance JELES (B)

s (D)
&

lever balance
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electronic balance U Ff128 (A)
U (©

beam balance
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Section - I 3l .

2 - Write short answers to any FIVE (5) questions.

_;_J AT 4 Ly

(6x2=10) -2 feuz Pl 5) &L 3f-2

i- Whatis vernier callipers? Write down the least count of digital -é / ;&SK eI g% Fn JH Ve 'y 4‘!( Yy -1

vernier callipers.

ii- Write down rules to find the significant figures in measurment.

iii- Define Physics.
iv- Differentiate between scalars and vectors quantities.
v - What is meant by uniform acceleration?
vi- Differentiate between transiatory motion/and linear motion.
vii - Define inertia and momentum.
" viii- Write down two advantages and disadvantages.of-friction.

3 - Write short answers to any FIVE (5) questions.

| i- Define the centre of gravity.
$ ii - A mechanic tightens the nut of a bicycle using a 15cm long
spanner by exerting a force of 200N. Find the torque that

| has tightened it.
| iii - What is meant by principle of moments?

iv- Define Newton's Law of gravitation.
R Define stable equilibrium.
‘ vi- What are Geostationary Satellites?
| vii- Whatis meant by solar cell?

viii - Define electrical energy.

4 - Write short answers to any FIVE (5) questions.
i- State Pascal's law. Write down applications of this law
in daily life.
ii - Define Young's modulus.
iii- Whatis meant by elasticity?

iv- Differentiate between temperature and heat.
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vi -

vii -

viii -

-2-
Cugiz.az

Change 300K temperature on Kelvin scale into Celsius scale 3 Qnﬂ C\..\T s N:\....\ 300K ¢ Qx\m Q».\ -v
of temperature. S e

Write down any two factors on which rate of flow of heat N\\z.Cﬁ Sy £ =7 g & ..\\.. Sl -vi
amvm:am.. 4 bnt AST ¥

What causes a glider to remain in air? fe Y or K fin Ll € -vii
Write down the names of four faces of Leslie cube. ‘m .«\:1. L C\.w\ s g J\x.\ dA -viii

Section - IT _\.cl.s

Note: Attempt any TWO (2) questions.

5 -

(a) Prove third equation of motion by the use of
speed-time graph.

(b) A body has weight 20N. How much force is
required to move it vertically upward with an
acceleration of 2 ms™?

(a) Calculate the mass of earth with-the help of
law of gravitation.

(b) The steering of a car has a radius 16¢cm.
Find the torque produced by a couple of 50N.

(a) Explain volume thermal expansion in solids and

define temperature coefficient of volume expansion.

(b) A student presses his paim by his thumb with a
force of 75N. What would be the pressure under

his thumb having contact area 1.5 Q:N,
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